
  

Reading $ hcana [-l -q -b]…. 
From Run #2397 [COIN]cidence but Singles run

1e+38 is THc*::KBig which means 
something went wrong!

Then, there must be something 
wrong with W^2...



  

Wait… W^2 < 0 ?

As W^2(..Q^2..) then… 
there must be something 
wrong with Q^2

Getting Q^2 by hand… 
from information of 
standard.kinematics file
Run #2397 → Q^2 ~14.28

BUT….



  

Maybe, there is 
something wrong with 
standard.kinematics or 
replay scripts are doing 
not doing it right...

14?? Not a single 
event!

Then… Let’s check 
another run...



  

Run #2404 [COIN]cidence but singles run.. Kinematics are the 
same (as given by standard.kinematics)

W^2 looks better. 
Isn’t it?

By hand Q^2 ~ 14.28



  

Still not ~14… but 
better than before...

Still learning from data that have been taking… From this… We have to make 
sure that standard.kinematics is updated correctly by the shift crew!
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